01 £ EFE 4 —ERRWRE. KEE TEHI-1

1 EERES

=i L (RERE) R E& L1V 300.8 | m2
300. 78 =300. 78

FH (NEBHIE) [RBAEY-MHIIVER TS -IAED) 1489.4 | m2

KT AMREEECE 1489. 38 =1489. 38

BEERE A T (NEREE) TS -IAED) 1489.4 | m2

KT AMREEECE 1489. 38 =1489. 38

RERE RS (ES4. 0K ZEERS TS -IAED) 300.8 | m2
300. 78 =300. 78

REB AR 2 35 H=5793 R EEHE LY 194.0 |m2
193.99 =193. 99

REB AR 2 35 H=4068 R EEHE LY 27.0 [m2
27.01 =27.01

a4 8 ik 1.00 =1.00 1.0 | =




01 AEFE 4 —ZRHRE. HEE T=5-2

2 lesae i
CEHTIED |
KAAD-1 (20 - LR ) VST B BB — S E .00 ~1.00 1.0 |nmlEis
FLL. B2 SR I s = A g 25 3t .00 ~1.00 1.0 | = |2
KAAD=2 (2B --1) VST B BB — S E .00 ~1.00 1.0 |nmlEin
FLL. HUE % SR o s = - A g 25 3t .00 ~1.00 1.0 | = |2
KAAD-3 (11 - LR ) VST B BB — S E .00 ~1.00 1.0 |nmlEis
FLL. HUE % SR I s = A g 25 3t .00 ~1.00 1.0 | = |2
KAAD—4 (15 --1) VST B BB — S E .00 ~1.00 1.0 |nmlEis
FLL. HUE % SR I s = A g 25 3t .00 ~1.00 1.0 | = |2




01 £ EFE 4 —ERRWRE. KEE

TE5H-3

3 |REWE B
KFH>
XFTEE 162 8% PEBEEET T (A K H-1) 215.3 | m2
TRt 44.18 =44.18
17.86 =17. 86
13.49 =13.49
1.67 =1.67
82.31 =82. 31
4.68 =4. 68
PEREEET T (A K H-2)
28. 47 =28. 417
16. 34 =16.34
6.33 =6. 33 =215. 33
P EiwlVS ) e EXTPS PEBEE AT TR (AR 1) 8.0 |m2
1.67 =1.67
PEREEET T (A K H-2)
6.33 =6. 33 =8. 00
—EEBEE EXTPS PEREEET T (A K H-2) 3.0 | m
30.96 =30. 96
XFARBROME e PEBEEET TR (A K H-2) 1.0 |mr
1.00 =1.00
<G>
BREERTvh-VIE = 9 1F: BEEE T ¥7° 2 |4. 00 x2. 00 =8.00 8.0 |mk
EXTPS




01 A EFEL A—ZEZRRBRIE. HEE T=E5-4
SETSES BE
BEER V- BRI 612 1F:ZesAtktgas 4. 00 x5. 00 =20. 00 44.0 |per
EXEEa 4.00 x3. 00 =12.00
4.00 x3. 00 =12. 00 =44. 00f
BEER V- BRI 620 1F : ZesAsii=s 8. 00 x3. 00 =24. 00 24.0 |per
XL
BEER7Uh-YI i S RTULA D16 1F A4S 24. 00 =24. 00 24.0 |per
XL
RS
HEMIEAH EER XH T 215.33 x0. 02 =4. 31 4.4 | m3
K EBO 1.00 x0. 02 =0. 02
BEEE7VI- 09 8.00 x0. 001 =0. 01
BEERTV- 0 12 44. 00 x0. 001 =0. 04
BEERTV1- 6 20 24. 00 x0. 001 =0. 02
BEER7VH- 0 16 24.00 x0. 001 =0. 02 =442
HEMEAH uNEEd] —EXE 30. 96 x0. 002 =0. 06 0.1 |m3
HEMEAH | ] K402 8.00 x0. 002 =0. 02 0.02 | m3




01 A EFEL A—ZEZRRBRIE. HEE T=E5I-5
3 |NEESE HE
<EKH>
XF AyI9-MRkEREE Y I£9 TR NEREE ST & (FRER X H-1) 44.2 | m2
T #PB/E9. 5 () 4 44.18 =44.18
X Ay ERE Y IZ19%1-7" TR REBEE St R (FEREH-1) 17.9 | m2
T #PBE9. 5 () 4 17.86 =17.86
XF AyI9-MRkEREE Y I£9 TR NEREE ST & (FRER X H-1) 82.3 | m2
[FH#hPB/E9. 5 CERIR) £ 82. 31 =82. 31
X Ay ERE Y IZ19%1-7" TR REBEE St R (FEREH-1) 4.7 |m2
[FH#hPB/E9. 5 CERIR) £ 4. 68 =4. 68
XH# BEF -MNRY I£9. 5 N NERE ST (FRER X FH-1) 15.2 | m2
13.49 =13.49
1.67 =1.67 =15. 16
XH# BEF -MNRY I£9. 5 ERBR REREE STk (FER K H+-2) 6.3 | m2
6.33 =6. 33
XH# EHBEEL - ERY I£9. 5 ERR REREE STk (FER K H+-2) 28.5 [ m2
28. 47 =28. 47
XH# EHBEEL - ERY I£9. 5 ERR REREE STk (BER K H+-2) 23.2 | m2
I EEBH L 16. 34 =16. 34
6.84 =6.84 =23. 14
XF b =-)hhnzag Y NEREE ST & (FRER X H-1) 8.0 | m2
1.67 =1.67
REREE STk (FER K H+-2)
6.33 =6.33 =8. 00




01 £ EFE 4 —ERRWRE. KEE

TE5R-6

XH* SEE) I -MNERY I£.25 REREE STk (FER K H+-2) 0.6 | m2
0. 60 =0. 60
RF N -IAFRRAT AR 5 (BFER R H-1) 13.5 | m2
13.49 =13.49
BEKEXRFTiH 1912 A& AL mEiE REREEET R (FEEKRFH-1) 66.3 [ m2
[Fihak U 4 L 13.49 =13.49
1.67 =1.67
NEREE STk (BTER K H+-2)
28. 47 =28. 47
16.34 =16. 34
6.33 =6. 33 =66. 30f
BEKEXRFTH 1912 A& AL mEiE REREEET TR (FEEKRFH-1) 149.6 |m2
ek Y &H Y 44.18 =44.18
17.86 =17.86
82.31 =82. 31
4.68 =4. 68
REREE ST & (BER K H+-2)
0. 60 =0. 60 =149. 63
BREPEXF BAOINEHR 197 XmiHE Z DALY 291.7 | m
291. 66 =291. 66
XAFS®EO s34 4507 REREE STk (BER K H+-2) 1.0 |»R
1.00 =1.00
—E5E A 3 REREE STk (FER K H+-2) 31.0 | m
30. 96 =30. 96




01 AEFE 4 —ZRHRE. HEE T=5H-7

4 _ISIEE S U B
KFH>
XHEEHR-F - EE —FRY WNEREEET TR EXFH-1) 73.1 [ m2
TRt 13.49 =13.49
1.67 =1.67
WNEREEET TR (AKX FH-2)
28. 47 =28. 417
16. 34 =16.34
6.84 =6. 84
6.33 =6. 33 =73. 14
XHER-F - EE —FRY WNEREEET TR EXFH-1) 149.0 |m2
XS 44.18 =44.18
17.86 =17. 86
82.31 =82. 31
4.68 =4. 68 =149. 03
HEMIEAH i KAEWR- -+ Y = RAES 3.6 |m3
—EiRY 73.14 x0. 009 =0. 66
—ERY 149.03 x0. 020 =2.98 =3. 64




01 A EFEL A—ZEZRRBRIE. HEE T=E50-8
b [EAMUAS
FEME- LN E EER <RIBS 56 4 1 TE5A 1Y) 4.4 | m3
4.42 =4. 42
FEMER- 0B uNEEd] <REEBIE> FAEMTEATY 0.1 | m3
0.06 =0. 06
FEMER- 0B It =h-v-+58 <R BIE> FAEMTEATY 0.02 | m3
0.02 =0.02
FEMER- 0B ] <3RS R RS> S M TEIALY 3.6 | m3
X7 AMREEECE 3.64 =3. 64




REREL-9

{RERHE LY
2H L (REE) P> & #8% E iR t=9 HER 300.78 | m2
-l 1.52 x1.13 x1.00 =1.72
<OF> R S iR t=9
23y7h-h- A EAI-1-|1. 13 x2.02 x2. 00 =4.57
Wt 3-5-h-h 0.78 x1.71 x1.00 =1.33
== 1.13 x2.02 x6. 00 =13.70
mE=E 2.28 x1.13 x7.00 =18.03
2.28 x1. 11 x5. 00 =12. 65
BT 1.32 x0. 60 x2. 00 =1.58
SEEI-f- 1.13 x2.02 x4. 00 =9.13
0.73 x1. 62 x2.00 =2.37
1.03 x1.03 x1.00 =1.06
BEOEME 2.28 x1.13 x1.00 =2.58
QP> AR E iR t=19%19-7"
BT 2.00 x2. 00 x2. 00 =8.00
1.72 x0. 90 x2.00 =3.10
—atf -1.32 x0. 60 x2. 00 -=1.58
SEEI-f- 2.40 x3. 00 x1.00 =7.20
—atf -1.03 x1.03 x1.00 -=1.06
1.13 x2. 02 x2.00 =4.57
—atf -0.73 x1.62 x2. 00 -=2.317
<QF>N -hAtym ot
mE=E 2.28 x1.13 x8. 00 =20. 61
<QF>t z-hhoR
mE=E 2.28 x1.11 x1.00 =2.53
<SPS R t=9
== 1.55 x1.55 x4. 00 =9. 61
fEEE 1.15 x1.15 x1.00 =1.32




{RERIEL-10

fRERIE LY

AR 2.03 x1.27 x2. 00 =5.16

2EBEW 1.87 x0. 73 x3. 00 =4.10

REBEQ 1.27 x2. 03 x2. 00 =5.16

NEHE 1.13 x2. 21 x1.00 =2.57

BT 5.15 x3. 75 x1.00 =19. 31
1.13 x2. 03 x2. 00 =4.59

Q> SRR F Rt=19%29-7"

fERE 1.55 x1.55 x1.00 =2.40

-a &b -1.15 x1.15 x1.00 -=1.32
SEBEW) 2.21 x1.13 x3. 00 =1.70
-a &b -1.87 x0. 73 x3. 00 -=4.10

<BF>{L#EPB

REEEE 2.28 x1.37 x4. 00 =12.49

BR-TRE 1.66 x1.82 x1.00 =3.02

ERE 1.66 x1.82 x1.00 =3.02

<SF>L#EPBAZ ZE

EIES 0.94 xb. 56 x2. 00 =10. 45

<SP{L#PBRZE_E XK

RE 4.75 x3. 44 =16. 34

<3F>E" Z-)hoa

HFHI-1- 3.42 x2.07 x1.00 =7.08

<4F> SRR R t=9

HEE 2.03 x1.13 x6. 00 =13.76

Bxf-b (1) 2.65 x1.95 x1.00 =5.17
2.84 x1.95 x1.00 =5.54
1.72 x0. 98 x2. 00 =3. 37

10




RERFEL-11

fRERIE LY

BRRE-) (2) 1.58 x1.13 x1.00 =1.79
1.81 x1.13 x1.00 =2.05

BT 1.13 x1. 65 x3. 00 =5.59

BT 1.78 x1.13 x2. 00 =4.02

i Abb=4 2.26 x1.13 x1.00 =2.55

<4F>{L #EPB

Bl{EE 1.82 x1.37 x6. 00 14. 96

FEEE 2.28 x1.37 x1.00 =3.12

<GF> SRR tRt=9

BRRE 2.00 x1.13 x1.00 =2.26
2.03 x1.13 x1.00 =2.29

FEEE 1.81 x1.13 x2. 00 =4.09

BT 1.13 x1.77 x3. 00 =6. 00

BT 2.03 x1.13 x1.00 =2.29

<5F>{L#EPB

IR B E 1.82 x0. 91 x2. 00 =3. 31 =300. 78]

11




RERFEL-12

REEHE L
B4 (RESE) IREBAE Y- AF>EH80% S iR t=9 vabsit 1489. 38

- 3.52 x3.13 x1.00 =11.02

<2F> 8% E AR t=9

29y70-h- PR EEI-F-|3. 13 x4. 02 x2. 00 =25.17

WE 154 2.78 x3. 71 x1.00 =10. 31

ESES 3.13 x4. 02 x6. 00 =75.50

HE=E 4.28 x3.13 x7. 00 =93.77
4.28 x3.13 x5. 00 =66. 98

BT 3.32 x2. 60 x2. 00 =17.26

HEE1-1- 3.13 x4. 02 x4. 00 =50. 33
2.73 X3. 62 x2. 00 =19.77
3.03 x3.03 x1. 00 =9.18

BEOHE 2.28 x1.13 x1.00 =2.58

QP> 4805 S iR t=19429-7"

BT 4.00 x4. 00 x2. 00 =32.00
3.72 x2. 90 x2. 00 =21.58

HEE1-1- 4. 40 x5. 00 x1.00 =22.00
3.13 x4. 02 x2. 00 =25.17

<QF>N -hAFyRAt

HE=E 4.28 x3.13 x8. 00 =107.17

OF>E =-)hmR

HE=E 4.28 x3. 11 x1.00 =13.31

<3F> E 8% E AR t=9

ESES 3.55 x3.55 x4. 00 =50. 41

fEEE 3.15 x3.15 x1.00 =9.92




{RERFEL-13

fRERIE LY

AR 4.03 x3. 27 x2. 00 =26. 36

2EBEW 3.87 x2. 73 x3. 00 =31.70

REBEQ 3.27 x4. 03 x2. 00 =26. 36

NEHE 3.13 x4. 27 x1.00 =13.37

BT 7.15 x5. 75 x1.00 =41. 11
3.13 x4. 03 x2. 00 =25.23

Q> SRR F Rt=19%29-7"

fERE 3.55 x3. 55 x1.00 =12. 60

SEBEW) 4.27 x3.13 x3. 00 =40. 10

<BF>{L#EPB

REEEE 4.28 x3. 37 x4. 00 =57. 69

BR-TRE 3. 66 x3. 82 x1.00 =13.98

ERE 3. 66 x3. 82 x1.00 =13.98

<SF>L#EPBAZ ZE

EIES 2.94 x7. 56 x2. 00 =44. 45

<BE>{LHPBRZE_—EHH

RE 4.75 x3. 44 =16. 34

<3F>E" Z-)hoa

HFHI-1- 5.42 x4. 07 x1.00 =22.06

<4F> SRR R t=9

HEE 4.03 x3.13 x6. 00 =75. 68

Bxf-b (1) 4. 65 x3. 95 x1.00 =18.37
4.84 x3. 95 x1.00 =19.12
3.72 x2. 98 x2. 00 =22.17

BRE-) (2) 3.58 x3.13 x1.00 =11. 21
3. 81 x3.13 x1.00 =11.93

13




%14

fRERIE LY

BT 3.13 x3. 65 x3. 00 =34.27

BT 3.78 x3.13 x2. 00 =23. 66

i 2kb=h 4.26 x3.13 x1.00 =13.33

<4F>{L #EPB

Bl{EE 3.82 x3. 37 x6. 00 =71.24

FEEE 4.28 x3. 37 x1.00 =14.42

<GF> SRR trt=9

BRRE 4.00 x3.13 x1.00 =12.52
4.03 x3.13 x1.00 =12. 61

PEEE 3. 81 x3.13 x2. 00 =23.85

BT 3.13 x3. 77 x3. 00 =35. 40

BT 4.03 x3.13 x1.00 =12. 61

<5F>{L#EPB

IR = 3.82 x2. 91 x2. 00 =22.23 =1489. 38|

14




{REREL-15

fRERIE LY

BREBRE ST (REEUE)

EH43Y 1489. 38 =1489. 38 1489. 38 | m2
AT RI5 BE=4. 0K BERE S|HLIY 300. 78 =300. 78 300. 78 | m2
RIER #2440 40 12 35 H=5793 <5F> 193.99 | m2
% B ih- 13.26 x14. 63 =193. 99
PRIER #4040 12 35 H=4068 <5F> 27.01 | m2
% B ih-I 1.83 x14.76 =27.01
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AL Pl sz 16
(FEEXRFA-1)

LGS LGS LGS LGS LGS LGS

PBt=9. 5 (F=F1%) PBt=9. 5 (I"#%4) PBt=9. 5 (%) PBt=9. 5 (I"#%4) PBt=9. 5 CET ) PBt=9. 5 CEFRR)

ARk ER=9 () AR ERt=1941-7" N = AFYIRAT £ Z-WH0z (RHR) BRRERT=9 () AR ERt=1941-7"

(1) (1)
m2 m2 m2 m2 m2 m2
<ApE> 1.23
QR 42.95 17.86 13. 49 1.67
<3mE> 37.64 4.68
<4pE> 33.40
<5mE> 11. 27
&it 44.18 17. 86 13.49 1. 67 82. 31 468

16



P % PEREEE 17
(HTER R H+-2)
LGS LGS RE.ZE5H (LGS) LGS LGS XHFLA®O
{EFEPBt=9. 6 CEFRHR) ML #EPBt=9. 5 CERLR) AL #EPBt=9. 5 CERER)  [PBt=9.5 CETIR) PBt=9. 5 CET %)
XKEEHBEL XKEEHBEL E" Z=WyAz (B 4K) SEE) JAF - =25
KTWIZ #4505
m2 m2 m m2 m2 m2 LFL
<1[E>
<2FE>
<3[E> 13. 71 16. 34 30. 96 6.84 6.33
<ARE> 12. 56 1.00
<5FE> 2.20 0.60
&it 28.41 16,34 30. 96 6.84 6.33 0. 60 1.00

17



AL pifE sz 18
BEXH-1)

LGS LGS LGS LGS LGS LGS

PBt=9 (&%) PBt=9 (R #) PBt=9 (&%) PBt=9 (R #) PBt=9 CEF 1K) PBt=9 CET 1)

ARk ER=9 () AR ERt=1941-7" N = AFYIRAT £ Z-WH0z (RHR) BRRERT=9 () AR ERt=1941-7"

(1) (1)
m2 m2 m2 m2 m2 m2
<ApE> 1.23
<2mE> 42.95 17. 86 13.49 1.67
<3mE> 37.64 4.68
<Aps> 33,40
<5mE> 11. 27
&it 44.18 17. 86 13.49 1. 67 82. 31 468

18



P IR F 10
(HBEXH-2)
LGS LGS FAE. ZE5¥H (LGS) LGS XFRKRO
1E#EPBt=9 CETR#R) 1E#EPBt=9 CETHR) 1E#EPBt=9 CETR) PBt=9 CEF 1K)
XHZEBRBL XHZEBRBL £ Z-WHaR (R ER)
XIS B 4506
m2 m2 m m2 m2 HEL
<1FE>
<2PE>
<3PE> 13. 71 16.34 30. 96 6.84 6.33
<ABE> 12. 56 1.00
<5FE> 2.20
£t 28.47 16. 34 30. 96 6.84 6.33 1. 00

19




REBHEL -1

ANEBIELY
<AFE>
xH# el
#E  |a:LGS. PBt=9 (F#4) . AfFRE R t=9 (F#) -l 1.52 x1.13 x1.00 =1.72 1.23 | m2
-AC -0.92 x0. 53 x1.00 —=0. 49 =1.23
[#E%  |a:LGS.PBt=9. 5 (FHR) . BB T Hrt=9 (1) 3y 1.23 =1.23 1.23 | m2
<2/E>
xH
#E  |a:LGS. PBt=9 (F#4) . AfFRE R t=9 (F#) 29y70h-h- thEEI-F-[1. 13 x2. 02 x2. 00 =4.57 42.95 | m2
-AC -0.53 x1. 42 x2.00 —=1.51
Wt 3-5-h-h 0.78 x1.71 x1.00 =1.33
-AC -0.53 x1. 21 x1.00 -=0. 64
== 1.13 x2.02 x6. 00 =13.70
-AC -0.53 x1. 42 x6. 00 -=4.52
mE=E 2.28 x1.13 x7.00 =18.03
-AC -1.68 x0. 53 x7.00 -=6. 23
2.28 x1. 11 x5. 00 =12. 65
-AC -1.68 x0. 51 x5. 00 -=4. 28
BT 1.32 x0. 60 x2. 00 =1.58
-AC -1.12 x0. 40 x2.00 -=0. 90
SEEI-f- 1.13 x2.02 x4. 00 =9.13
-AC -0.53 x1. 42 x4. 00 -=3. 01




REBHEL -2

AERHE LY
0.73 x1.62 x2. 00 =2.37
-AC -0.53 x1.42 x2. 00 —=1.51
1.03 x1.03 x1.00 =1.06
-AC -0.75 x0. 75 x1.00 —=0. 56
BEDOEHE 2.28 x1.13 x1.00 =2.58
-AC -1.68 x0.53 x1.00 —=0. 89 =42. 95
|z |a:LGS.PBt=9. 5 (F-H#A) . IR = HRt=9 (RIA) #E3y 42.95 =42. 95 42.95 | m2
7=  |b:LGS. PBt=9 (i) . BRI T ARt=1941-7" (RI) BT 2.00 x2. 00 x2. 00 =8.00 17.86 | m2
1.72 x0. 90 x2. 00 =3.10
—-a&f -1.32 x0. 60 x2. 00 —=1.58
REEI-T- 2.40 x3. 00 x1.00 =7.20
—-a&f -1.03 x1.03 x1.00 —=1.06
1.13 x2.02 x2. 00 =4.57
-agh -0.73 x1. 62 x2. 00 -=2.37 =17. 86
rs2  |b:LGS.PBt=9.5 (FH#A) . BB HRt=19%2-7" (1) #E3y 17.86 =17.86 17.86 | m2
% |c:LGS. PBt=9 (FRHK) .1\ —NAFVHR AT EExE 2.28 x1.13 x8. 00 =20. 61 13.49 | m2
-AC -1.68 x0.53 x8. 00 —=7.12 =13.49
Fﬁa LGS, PBt=9. 5 (F4) .1 -hAFvR At #Ey 13.49 =13.49 13.49 | m2




REBHELN-3

ANEBIELY
#E |2 LGS, PBt=9 (R#A) . £ =-IAZ (A 4) HEE 2.28 x1. 11 x1.00 =2.53 1.67 | m2
-AC -1.68 x0. 51 x1.00 —=0.86 =1. 67
I#E%  |2:LGS.PBt=9. 5 (A#A) . £ =-IymR &Y 1.67 =1.67 1.67 |m2
<3pE>
xH
#%  la’ :LGS.PBt=9 CETIR) . Afalk ESES 1.55 x1. 55 x4. 00 =9. 61 37.64 | m2
-AC -0.95 x0. 95 x4. 00 -=3. 61
BEEE 1.15 x1.15 x1.00 =1.32
-AC -0.95 x0. 95 x1.00 -=0. 90
e 2= 2.03 x1.27 x2. 00 =5.16
-AC -1.43 x0. 67 x2. 00 —=1.92
SEEW) 1.87 x0.73 x3. 00 =4.10
-AC -1.67 x0.53 x3. 00 -=2.66
SHEQ 1.27 x2.03 x2. 00 =5.16
-AC -0. 67 x1.43 x2. 00 —=1.92
IheEE 1.13 x2.27 x1.00 =2.57
-AC -0.53 x1. 67 x1.00 —=0. 89
BT 515 x3.75 x1.00 =19. 31
-AC -0.53 x1.43 x1.00 —=0.76
1.13 x2.03 x2. 00 =4.59
-AC -0.53 x1.43 x2. 00 —=1.52 =37. 64




REREL -4

AEREE LY
[Ee%  |a’ :LGS.PBt=9. 5 CETIR) . BHRK = Hrt=9 (F1A) =3 37.64 =37. 64 37.64 | m2
#%  |b’ (LGS, PBt=9 CERHK) . H#BR T iRt=19%1-7" () BEEE 1.55 x1.55 x1.00 =2.40 4.68 | m2
-a &5 -1.15 x1.15 x1. 00 —=1.32
aE=E) 2.27 x1.13 x3. 00 =1.70
-a &5 -1.87 x0.73 x3. 00 —=4.10 =4 68|
I8 b’ :LGS.PBt=9. 5 CERMR) . BT FRt=19%1-7" (F#) =3 4. 68 =4. 68 4.68 | m2
#E  |d: LGS, {L#EPBt=9 CETRHR) REEEE 2.28 x1.37 x4. 00 =12. 49 13.71 | m2
-AC -1.69 x0. 53 x4. 00 —=3.58
BER-FRE 1.66 x1.82 x1. 00 =3.02
-AC -0.53 x1.17 x1. 00 —=0. 62
B 1. 66 x1.82 x1. 00 =3.02
-AC -0.53 x1.17 x1. 00 —=0. 62 =13.71
|58 |d:LGS. {E#EPBt=9. 5 CETRIK) =3 13. 71 =13. 71 13.71 | m2
#E  |e: (LGS) . {L#EPBA2 A H B L t=9 CETH) = 0.94 x5. 56 x2. 00 =10. 45 6.84 | m2
-AC -0. 54 x1. 67 x4. 00 —=3. 61 =6. 84|




REBHEL -5

AEREE LY
155%  |e: (LGS) . 1k #tPBR2 = BB Lt=9. 5 CEFRHK) £ 6.84 =6. 84 6.84 | m2
#E | LGS ALREPBEAE B Lt=9 CERM) —F5¥H rE 4.75 x3. 44 =16. 34 16.34 | m2
= BEL —E%H 3.44 x9. 00 =30. 96 30.96 | m
[FE%  |f LGS {b#PBEEBEELt=9.5CEFRR —F5H £ 16. 34 =16.34 16.34 | m2
| B BEL. —E%H =3y 30. 96 =30. 96 30.96 | m
#E  |g' (LGS.PBt=9 CEARER) . £ =-MInR () #FEI1-1- 3.42 x2. 07 x1.00 =7.08 6.33 | m2
-AC -1. 41 x0. 53 x1.00 —=0.75 =6. 33|
1#i5% |2’ (LGS.PBt=9. 5 CEARIR) . £ =-I)0A (F#K) £ 6.33 =6. 33 6.33 | m2




R EBHEL V-6

AEREE LY
<4pE>
xH
#E  |a' (LGS, PBt=9 CETRHR) . EERRERt=9 (F1R) HHE=E 2.03 x1.13 x6. 00 =13.76 33.40 | m2
-AC -1.43 x0. 53 x6. 00 -=4.55
BRI (1) 2.65 x1.95 x1.00 =5.17
2.84 x1.95 x1.00 =5.54
1.72 x0. 98 x2.00 =3.37
-AC -1.12 x0. 36 x2.00 -=0. 81
BRI (2) 1.58 x1.13 x1.00 =1.79
1.81 x1.13 x1.00 =2.05
-AC -1.21 x0. 53 x2.00 —=1.28
BT 1.13 x1. 65 x3. 00 =5.59
-AC -0.53 x1.05 x3. 00 -=1.67
BT 1.78 x1.13 x2.00 =4.02
-AC -1.18 x0. 53 x2.00 —=1.25
b 2bl=bh 2.26 x1.13 x1.00 =2.55
-AC -1.66 x0. 53 x1.00 —=0. 88 =33. 40
I8 |a' :LGS.PBt=9. 5 CERMR) . BT F R t=9 (F#) =3y 33.40 =33.40 33.40 | m2
% |d:LGS. L #EPBt=9 EEFHR) BltE= 1.82 x1.37 x6. 00 =14. 96 12.56 | m2
-AC -1.43 x0. 53 x6. 00 -=4.55
FHECE 2.28 x1.37 x1.00 =3.12
-AC -1.42 x0. 68 x1.00 -=0. 97 =12. 56




REBELN-7

AEREE LY
1% |d:LGS. {E#EPBt=9. 5 CETRIK) =3 12.56 =12. 56 12.56 | m2
JFEk (XA S&O 7,3 8424504 Brf-b (1) 1.00 =1.00 1.00 |per
XA
<5FE>
XH
#E  |a' (LGS.PBt=9 CERMR) . BfRRERt=9 (=) BRE 2.00 x1.13 x1. 00 =2.26 11.27 | m2
2.03 x1.13 x1. 00 =2.29
-AC -1.43 x0. 53 x2. 00 —=1.52
Rz 1.81 x1.13 x2. 00 =4. 09
-AC -1.43 x0. 53 x2. 00 —=1.52
BT 1.13 x1.77 x3. 00 =6. 00
-AC -0.53 x1.17 x3. 00 —=1.86
BT 2.03 x1.13 x1. 00 =2.29
-AC -1.43 x0. 53 x1. 00 —=0.76 =11.27
[Ee%  |a’ :LGS.PBt=9.5 CETIR) . BEHRK = rt=9 (F1A) =3 11.27 =11.27 11.27 | m2




REBHEL Y-8

AEREE LY
#E  |d: LGS, {L#EPBt=9 CETRHR) R 7 1.82 x0. 91 x2. 00 =3. 31 2.20 | m2
-AC -1.05 x0. 53 x2. 00 =1. 11 =2. 20|
1% |d:LGS. {E#EPBt=9. 5 CETRIK) =3 2.20 =2.20 2.20 | m2
[FE%  |h:LGS.PBt=9.5 CETRMR) EEHE) A —b t=25 % B#IE-) 0. 20 x1. 00 x3. 00 =0. 60 0.60 | m2




ZDfhIEL-9

ZDMIEL
BEHBXRA BOEREE 197 XmiaE ACBEOT FEAL HER 291. 66

<IF>
-l

0. 92%0. 53 2.90 x1.00 =2.90
<2F>
2539704 A EEI-1- x2.00

0.53+%1. 42 3.90 =3.90
Wt 3-5-h-h x1.00

0.53%1. 21 3.48 =3.48
== x6. 00

0.53%1. 42 3.90 =3.90
mE=E x15. 00

1. 68%0. 53 4.42 x6. 00 =26.52

1. 68%0. 51 4.38 =4.38
BT x2.00

1. 12%0. 40 3.04 =3.04
SEEI-f- x6. 00

0.53+%1. 42 3.90 x1.00 =3.90

0. 75%0. 75 3.00 =3.00
BEOHE x1.00

1. 68%0. 53 4.42 =442
<3F>
==

0. 95%0. 95 3.80 x4. 00 =15. 20
fEEE

0. 95%0. 95 3.80 x1.00 =3.80




ZDfhIEL-10

ZDMIEL

MR

1.43%0. 67 4.20 x2. 00 =8.40
£E=0)

1. 67%0.53 4. 40 x3. 00 =13.20
SEEQ)

0. 67x1. 43 4.20 x2. 00 =8.40
INEEE

0.53%1. 67 4. 40 x1.00 =4.40
BT

0.53%1. 43 3.92 x3. 00 =11.76
SREETE

1. 69%0. 53 4.44 x4. 00 =17.76
BER-FTRE

0.53%1. 17 3.40 x1.00 =3.40
EiF=E

0.53%1. 17 3.40 x1.00 =3.40
=

0. 54x1. 67 4.42 x4. 00 =17. 68
HEI-1-

1.41%0. 53 3.88 x1.00 =3.88
<4F>
HHE=E

1.43%0. 53 3.92 x6. 00 =23.52
Brf-b (1)

1.12%0. 36 2.96 x2. 00 =5.92
Bl (2)

1.21%0. 53 3.48 x2. 00 =6. 96
BT

0.53%1. 05 3.16 x3. 00 =9.48

1.18%0. 53 3.42 x2. 00 =6. 84
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ZDfhIEL-11

ZDMIEL

7 Ab=4

1. 66%0. 53 4.38 x1.00 =4. 38
BltEE

1. 43%0. 53 3.92 x6. 00 =23.52
Pk

1. 42%0. 68 4.20 x1.00 =4. 20
<5F>
BRE

1. 43%0. 53 3.92 x2. 00 =7.84
Pk

1. 43%0. 53 3.92 x2. 00 =7.84
BT

0.53%1. 17 3.40 x3. 00 =10. 20

1. 43%0. 53 3.92 x1.00 =3.92
g i

1. 05%0. 53 3.16 x2. 00 =6.32 =291. 66|
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